
Time: 10 Minutes Paper Math 4 Total Marks: 10

4th Month, 2nd Week, 1st Day Syllabus:Unit 4: Exercise − No. 3 Q No. 1

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. When we add 9.11 and 8.03, we get: ÃÃÃÃ¦¦¦¦™™™™,,,,ÂÂÂÂqqqqÝÝÝÝƒƒƒƒ@@@@****ìììì:::: 8.03 ZZZZzzzzgggg 9.11 ZZZZ####ëëëë

(a) 17.14 (b) 17.04 (c) 17.16 (d) 17.18

ii. 43.1 + 12.7 = ______________.

(a) 55.8 (b) 5.58 (c) 55.10 (d) 51.10

iii. 52.9 + 2.2 = ___________.

(a) 55.1 (b) 5.5 (c) 55.00 (d) 5.155

iv. When we add 5.69 and 2.98 we get: ÃÃÃÃ¦¦¦¦™™™™,,,,:::: 2.98 ZZZZzzzzgggg 5.69 ZZZZ####ëëëë

(a) 8.67 (b) 8.69 (c) 8.70 (d) 8.90

v. 6.02 + 1.89 = ?

(a) 7.91 (b) 7.98 (c) 7.93 (d) 7.94

Q.No.1. Add the following: (5)

49.3  ,   21.6            ŠŠŠŠgggg̀`̀̀ffffssssÃÃÃÃ¦¦¦¦™™™™,,,,::::

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

_____________________________________________________________________
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